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Q. 7tz 120 Brft s =

25% &, {1 39 TEAT F

125% BT
Q. If 120 is 25% of a

(d)
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Q. TF 95 H, TaEqi | H (4/25) AigATY
m 7| TE FEEAT T (v =l TTqLT AT?

P —
Q. In a meeting, (4/25) of the
members were women. What

@ percenta zc;f emembéﬁs was this{a) 4%

(b) 40%
(C) 24%
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Q[ =T ATE * T8T91 1 919 6.08 FFuT. 2 R \woh@?
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FoRaT «aT? #
Q. The weight of a four-month- oId baby is 6.08 kg.

Is. This is"1905% oa‘:lmsblr hat was the
weight of the baby. pwtﬁﬁ%

ﬁm/kg

Q k (b) 3.02
‘ / le\ge, foIT. kg
2{3@ >< 38C)< 6@

(d) 2.03

~
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N A ) Q. Tl Heam & 2500 21 73
(Zg 02" _IZSOﬂ T ﬁﬂd%@q? T | 10@% ST,

qTE TaCdl T TCqT § g AT FHT G-

3 /oy AL A 10% | T &7 FY F
‘;ﬁ +lo/ | —(o/ TLIEATLI0% &1 2 &1 9
6 CH—Z ’f'ﬂi) Q. The number of members in an

(o0 organization is 2500. If the number of
/(}Lef~ 5 x|z members increases by 10% in the first year,
@ 55 qagi<ledieabesity 48figithersecond year,
A@i sabardwaamaesthe increase or

) 95, | WEFTRRSIRR RUTRES SLTSBIORS Wil e

SFN\ B members
@ (c) 25 Tt &t gig/increase of 25
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\“D /.Q. Ffe AT adqd B H 150% A&

g1, @ B &1 ad= A § Teha« Tfaerd

\00 7‘ FH gIT?
@QJ Q. If A's salary is 150% more
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Q. A% 919 B ¥ 20% 1T+ g4 2, 3Mi%
C ¥ 7T B ¥ 20% FE AT 2L A ¥ T C
" fohaw ataera st &= g2

Q. A has 20% more money than B,

and C has 20%%8ss money than B. A

haé\whatp& nt- mare money than a)
oé

Ci?zb 1

()
&y 17%
L%Xi%x// ©
2z 43%
(d)
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Q. (100-300 T 20%) T 40% t—-—-) YA
a—gﬁ? -

o/ f &9/0_ £01 .
S (a0 chang 0

equal to? /77 -
120);

L

5 4
g
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Q. ﬁ?ﬁﬁﬁ?ﬁﬁ@aﬁ%% IR
39 gtaerd &t wHT 3T

Q. If the radius of a sphere is

decreasﬁd;}gyzg"@ ¥ gaj/uoercent(a) 20%

will its volunfe $as 2
AR < 3?2 (b)
ZQ~2© 26 X2 \ e ' 0
[
— ~_C{Q_|_ LI @}25 +7 Z 6%
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.O.33+ 11 &7 IT99TT & ®9 H T<h A

e
1
E(X@'®§Ing—oé3ﬁ0¥> as 4 a) 30

e get.. 300

Lo U ) > (C)
11 — Tooﬂ(1/300)
\ﬁ So % (d) (1/3)
(32

?j)gb/s
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% 2 85y
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Q. e fhHT 75% BANT5 STEHT
Tl AT ITH B 1T, T IH H&AT
45% FIT g2

Q.If175 is added to 75% of a number
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Q. = Faft forer Xt 4006 Hy 77 ¥
20% @Eﬁ{ﬁw'\ SERUAREILG

g, WA AT T

Q. If we increased 40% iIn numerator and
Ty inkdenomin action then it igg) 2/5
./\"“/ (774), then tPé. Sk fion is: (b) 2/3

(c) 5/2

Ad) 312
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Q. I =T ¥ 60% IH T=IT *
T-ATATE T 90 * 7 &, a7 Tg[A i
Q. If 60% of a number is 9() less by
three fourth of that number Then the

numberys:
W

500
° (C)
{00y < 600
)
700
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Q. TH A4 ﬁ@% il ghg A I
ST S1STe | o araera =it ST FEAT 2T
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Q. The length of rectangle is increased by 25%
By what percent would+tke width hav?%oztae
Yo

decreas,é%ﬁg%am nthe~same

(b)
37.5%
(c) 10%
(d)
12.5%
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